
1) 131/13 x 71/8

Answer: ____________

2) Convert the following fraction into a 
mixed number: 31/4

Answer: ____________

3) Find perimeter of 
triangle s = 861 m

Answer: ____________

4) A number was shared in the ratio 
42:8. The smaller share was 20. 
What was the larger amount?

Answer: ____________

5) 605 x 704

Answer: ____________

6) Find area of triangle 
s = 544 ft

Answer: ____________

7) 2/8 x 13/2

Answer: ____________

8) 978 + 171

Answer: ____________

9) 353 - 337

Answer: ____________

10) Find area of 
triangle s = 114 m

Answer: ____________

11) Find perimeter of 
square having each 
side (s) equals 931 ft

Answer: ____________

12) 522 x 736

Answer: ____________

13) Convert the following fraction into a 
mixed number: 16/13

Answer: ____________

14) A number was shared in the ratio 
22:24. The smaller share was 11. 
What was the total amount shared?

Answer: ____________

15) Convert the following mixed number 
814/7 into an improper fraction.

Answer: ____________
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16) 1/21 of 168

Answer: ____________

17) Find area of 
rectangle having 
sides a = 767 in 
and b = 570 in

Answer: ____________

18) Find perimeter of 
rectangle having 
sides a = 736 ft 
and b = 322 ft

Answer: ____________

19) Find area of 
triangle s = 477 ft

Answer: ____________

20) 170 ÷ 10

Answer: ____________

21) 14   9/16 - 14   1/2

Answer: ____________

22) 956 - 906

Answer: ____________

23) Find area of 
triangle 
a = 802 in, b = 924 
in

Answer: ____________

24) Find area of square 
having each side (s)
equals 733 ft

Answer: ____________

25) 4/
18 ÷ 20

/2

Answer: ____________

26) 132 + 407

Answer: ____________

27) Find perimeter of 
square having each 
side (s) equals 674 m

Answer: ____________

28) A number was shared in the ratio 
6:24. The smaller share was 6. What 
was the total amount shared?

Answer: ____________

29) 2/1 + 17/8

Answer: ____________

30) Find area of 
rectangle having 
sides a = 737 ft 
and b = 642 ft

Answer: ____________
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Total: ___ / 30
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Answers:

1) 939/52 2) 73/4 3) 2583m 4) 105 5) 425920 6) 128144.04694718ft 7) 15/8

8) 1149 9) 16 10) 5627.4330737913m 11) 3724ft 12) 384192 13) 13/13 14) 23

15) 10/1 16) 8 17) 437190in 18) 2116ft 19) 98522.947048835ft 20) 17 21) 1/16

22) 50 23) 278515.50190788in 24) 537289ft 25) 1/45 26) 539 27) 2696m 28) 30

29) 41/8 30) 473154ft
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